TpuroHomMmeTpuyecke ypaBHeHMs

YacTHbIE ciyqyam

0 . T
sinx =0 x=mnk,k€Z cosx=0(:>x=5+nk,kEZ

o m
SInx—l(:)x—E+27Tk,k€Z cosx=1ox=2nk,keZ

31 _ _ _
Sinx:_l@x:7+2nk,kez cos x lex=n+2nk,ke€Z

OcHoBHBIE POPMYJIBI
x = arcsina + 2nk,k € Z

sinx =aq,la| <1 x = .
lal [x=n—arcsma+27tk,kEZ

x = arccosa + 2k, k € Z
x = —arccosa + 2nk, k € Z

cosx=a,|a|£1<:>x=[
tgx =a e x=arctga+nk,k€Z
ctgx =a & x =arcctga + k, k € Z

CroiicTBa apk-pyHKuuii

T T . _ _ .

arcsin x € __;_] arcsin(—x) = —arcsinx
2 2 arccos(—x) = 7 — arccos x

arccos x € [%' 75; arctg(—x) = —arctgx
arctgx € (— 5 E) arcctg(—x) = m — arcctg x

arcctgx € (0;m)
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